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Question Number : 1 Question Id : 6154756129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify those features of learner behaviour which are associated with understanding level

teaching :

(a) The student renders facts and information 1n his‘her own words

(b) The student 1immediately recalls the facts taught

(c) The student gives his / her own examples 1n order to explain a point

(d) The student interprets the meanings In various wavs

(e) The student correctly reproduces the sequence taught

Select vour answer from the following options :

(1) {a). (b) and (c) (2) (b). (c) and (d)
(3) (b). (d) and (e) (4) (a) (c) and (d)
Options:

E15475235901. 1
B1547523902. 2
61547523903, 3
615475233904, 4

Question Number : 1 Question Id : 6154756129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E1547523902. 2
61547523903, 3
615475233904, 4

Question Number : 2 Question Id : 6154756130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following sequence depicts outcome based curriculum design for college level
teaching programmes?

(1) Content, teaching-learning, learning outcomes, evaluation

(2) Desired learning outcomes, content, teaching-learning, assessment and evaluation

(3) Teaching-learning, content. learning outcomes. assessment and evaluation

(4) Content. learning outcomes desired. teaching-learning, evaluation and assesament
Options:

615475233905, 1
E15475233906. 2
E15475238907. 3
E1547523908. 4

Question Number : 2 Question Id : 6154756130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547523905, 1
61547523906, 2
61547523307, 2
615475223908 4

Question Number : 3 Question Id : 6154756131 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1s a key to effective teaching behaviour?

(1) Teacher mediated dialogue which helps learners restructure what 1s being learned

(2) Ehcting clarification of an answer given by students

(3) Soliciting additional information about a response of students

(4) Promoting low error rate (high success) contrbutive to increased levels of students’

self esteem and positive attitude

Options:

61547523909, 1
61547523910 2
615475239311, 2
615475223912 4

Question Number : 3 Question Id : 6154756131 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547523909, 1
615475223910, 2
61547522911,
61547523912 4

Question Number : 4 Question Id : 6154756132 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

For encouraging ‘learning to learn’. the emphasis on which of the following would be most
appropriate?

(1) Use of educational technology gadgets

(2) Organizing teaching to increase opportunity for transfer of learning

(3) Assigning tasks to be mastered by students

(4) Frequent tests to be conduted

Options:
615475239131
615475234914 2



E1547523915. 3
61547523916, 4

Question Number : 4 Question Id : 6154756132 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547523913, 1
61547523914 2
61547523915 2
615475223916 4

Question Number : 5 Question Id : 6154756133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which of the following modes of assessment the potential for increasing intrinsic

motivation 1s optimum?

(1) Formative assessment based evaluation

(2) Computer testing based assessment

(3) Summative assessment

(4) Norm-referenced based testing assessment
Options:

E15475238917. 1
E1547523918. 2
61547523915, 3
61547523920, 4

Question Number : 5 Question Id : 6154756133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547523917, 1
E1547523918. 2
61547522919,
615475223920 4

Question Number : 6 Question Id : 6154756134 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following research methods, an empirico-inductive paradigm 1s employed?

(a) Ethnographic probe
(b) Case study method
(c) Ex post facto method
(d) Narrative method

(e) Experimental method

Select your answer from the options given below :

(1)  (a). (b) and (c)
(2) (b). (¢) and (d)
(3) (a). (b) and (d)
(4) (c). (d) and (e)

Options:

61547523921, 1
61547523922 2
E1547523922 2
61547522924, 4

Question Number : 6 Question Id : 6154756134 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
615475235211
61547523922 2
E1547523923 3
61547523924 4

Question Number : 7 Question Id : 6154756135 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The probability sampling procedures are mostly used in which of the following researches?

(a) Survey researches

(b) Experimental researches

(c) Phenomenology based researches

(d) Action researches

(e) Correlational design based researches

Select vour answer from the follwoing options :

(1)  (a). (b) and (e)
(2)  (a). (b) and (c)
(3) (b). (c) and (d)
(4) (c). (d) and (e)

Options:

61547523925, 1
61547523926 2
E1547523927. 2
61547523928, 4

Question Number : 7 Question Id : 6154756135 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547523925, 1
61547523926, 2
61547523927, 2
E1547523928. 4

Question Number : 8 Question Id : 6154756136 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The style of writing a thesis and research article has to be

(1) Creative 1n so far as diction 1= concerned

(2) Scientific in respect of language used

(3) Mechanical in so far as placement of fizures and tables 1s concerned
(4) Vamable in respect of referencing
Options:

E1547523929. 1
E1547523930. 2
B1547523921. 3
61547523932, 4

Question Number : 8 Question Id : 6154756136 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547523929, 1
615475223920 2
61547523931, 2
61547523932 4

Question Number : 9 Question Id : 6154756137 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The application of which of the following ICT in research will ensure wider coverage and

accessibility of needed information?

(1) LAN (2) WAN
(3) Skype (4) Intranet
Options:

B1547523933. 1
61547523924, 2
61547523935 3
61547523956, 4

Question Number : 9 Question Id : 6154756137 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

BE1547523923. 1
61547523924, 2
61547523935 3
E1547523936. 4



Question Number : 10 Question Id : 6154756138 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A researcher while reporting his /her research findings gives weightage to stake holder’s
perspective 1n a qualitative research theme. This will involve

(1) Violation of ethical norms

(2) Bias and prejudices

(3 Disclosure of reality situation
(4) Inappropriate interference of others in research
Options:

61547523937, 1
61547523928, 2
61547523939, 3
E1547523940. 4

Question Number : 10 Question Id : 6154756138 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547523937. 1
E1547523938. 2
B1547523939. 3
B1547523940. 4

Question Number : 11 Question Id : 6154756139 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In the hinear model of communication. the expected result 1z

(1) Psvchological disruption (2) Removal of physical noise
(3) High level of obstruction (4) Semantic accuracy
Options:

B1547523941. 1
B1547523942 2
61547523943, 3
61547523944, 4

Question Number : 11 Question Id : 6154756139 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547523941. 1
61547523942 2
61547523943 3
61547523944, 4

Question Number : 12 Question Id : 6154756140 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

An important element in classroom communication is

(1) Physical infrastructure {2) Fields of experience
(3) Conditioned feedback {4) Linearity of Message
Options:

E1547523945. 1
E1547523946. 2
B1547523947. 3
61547523948, 4

Question Number : 12 Question Id : 6154756140 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547523945. 1
E1547523946. 2
B1547523947. 3
61547523948, 4

Question Number : 13 Question Id : 6154756141 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The concept of proximal development. related to educational communication. was developed
by

(1) Sigmund Freud (2) EKurt Lewin
(3) Lev Vygotsky (4) Alberk Bandura

Options:



E15475239459. 1
61547523950, 2
51547523951, 3
61547523952, 4

Question Number : 13 Question Id : 6154756141 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475239459 1
61547523950, 2
61547523951, 3
E1547523952. 4

Question Number : 14 Question Id : 6154756142 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Effective oral communication demands

(a) Self-confidence

(b) Long pauses

(c) Consistent practice

(d) Business like approach
(e) Enowing the audience

(£) Aggresaive questioning

Choose the correct answer from the following option :

(1) (b). (c) and (d) (2) (c). (d) and ()
(3) (d). (e) and (D (4) (a). (c) and (e)
Options:

61547523953, 1
E1547523954. 2
E1547523955. 3
B1547523956. 4

Question Number : 14 Question Id : 6154756142 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E15475234955.
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Question Number : 15 Question Id : 6154756143 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements - one is labelled as Assertion (A) and the other 1s labelled as

Reaszon (R):

Asszertion (A) : The spoken and written words are two media of many available for
communication in the classroom

Reason (R) : Communication through any medium does not happen through attitudes of

encoders

In the hight of the above two statements choose the correct option from the choices given

below:

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true. and (R) 1s not the correct explantion of (A)
(3 (A) 1s true, but (R) 1s false

(4) (A) 1s false. but (R) 1s true

Options:



B1547523957. 1
61547523958, 2
61547523959, 3
E1547523960. 4

Question Number : 15 Question Id : 6154756143 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547523957, 1
61547523958 2
E1547523959 =2
615475223960, 4

Question Number : 16 Question Id : 6154756144 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If A 1z directly proportional to B: B 1z inverszely proportional to C and C 1s directly
proportional to D. then

(a) A 1s inversely proportional to D

(b) A 1s directly proportional to D

(c) A 1s directly proportional to C

(d) A 1z inversely proportional to C

Choose the correct answer from the options given below:

(1) (a) and (d)
(2) (b) only
(3) (a) only

(4) (c) and (d)

Options:

61547523961, 1
61547523962 2
61547523963 2
615475239364 4

Question Number : 16 Question Id : 6154756144 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547523961, 1
E15475239E62. 2
61547523962 5
61547522964, 4

Question Number : 17 Question Id : 6154756145 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Average of two numbers a and b 13 22 and 60% of a = 50% of b. What 1s the product of
aand b ?

(1) 160 (2) o84
(3) 480 (4) 484
Options:

61547523965, 1
61547523966, 2
E1547523967. 3
E1547523968. 4

Question Number : 17 Question Id : 6154756145 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 160 (2) 384
(3) 450 (4 434
Options:

E15475235965. 1
E1547523966. 2
B1547523967. 3
61547523968, 4

Question Number : 18 Question Id : 6154756146 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

B 15 the only daughter of maternal erandmother of A. How 15 A related to B?

(1) Sister (2) Daughter
(3) Cousin (4) DMother
Options:

B154752396%9. 1
B1547523970. 2
B1547523971. 3
E1547523972. 4

Question Number : 18 Question Id : 6154756146 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

BE154752396%9. 1
B1547523970. 2
61547523971, 3
E1547523972. 4

Question Number : 19 Question Id : 6154756147 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a certain code "CREDIT" 12 written as "EPGBEKR" and in the same code. "DEBIT" will be
written as

(1) FDCGV (Z2) TFGCDV
(3) FCDGV (49) FCDVG



Options:

61547523973, 1
61547523974 2
E1547523975 2
15475223976, 4

Question Number : 19 Question Id : 6154756147 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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T ey =
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(3) FCDGV (4) FCDVG
Options:

615475239731
61547523974, 2
61547523975 3
E1547523976. 4

Question Number : 20 Question Id : 6154756148 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The next term of the series 1s

1D3. sH5. aL7. :

(1) P9 (2) TRH9
(3) TN 4 7L9
Options:

E1547523977. 1
61547523978, 2
E1547523979. 3
E1547523980. 4

Question Number : 20 Question Id : 6154756148 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547523977. 1



B1547523978. 2
B15475239759. 3
51547523980, 4

Question Number : 21 Question Id : 6154756149 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The attributes shared by all and only those objects to which a term refers 1s known as

(a) The intention of a term
(b) Connotation

(c) Denotation

(d) The extension of a term

Choose the correct code from below:

(1) (d) only (2) Both (a) and (b)
(3) Both (c) and (d) (4) (c) only
Options:

61547523951, 1
E1547523982. 2
E1547523983. 3
B1547523984. 4

Question Number : 21 Question Id : 6154756149 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

BE1547523981. 1
B154752398%. 2
E1547523983. 3
61547523954, 4



Question Number : 22 Question Id : 6154756150 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to traditional square of opposition if two propositions are so related that they
cannot both be false, although they may both be true 1s called:

(1) Sub altern (2) Sub contraries
(3) Contradictory (4) Contrary
Options:

E1547523985. 1
E1547523986. 2
B1547523987. 3
61547523988, 4

Question Number : 22 Question Id : 6154756150 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TP Sy @ % FEE 902 21 fasieEl 38 TR H Hetad 7 " 261 39T 99 5 ghdl 2 9w d

(1)  37tEE (2) wu-fagim
(3)  TemramwE (4) Taufa
Options:

B1547523985. 1
B1547523986. 2
G1547523987. 3
61547523988, 4

Question Number : 23 Question Id : 6154756151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

An informed fallacy in which the conclusion of an argument 1s stated or assumed 1n any one
of the premises 1s known as:

(a) Begging the question
(h) Circular argument
(c) Isnoratio elenchi

(d) Petitio principii

Choose the correct option from the following:

(1) (a). (b) and (d) (2) (a) and (c)
(3) (c) only (4) (b). (c) and (d)
Options:

61547523989, 1
61547523930, 2
61547523931, 3
E1547523982. 4



Question Number : 23 Question Id : 6154756151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
UF UHT AR aar, T9EH A HURY R PREl U S9R G 3 YR B AW o W B,
fAeATTha W o TReehl g ST ST B
(a) HTHTATTT
(b)  HFTR FAFFIHZ
(c) AR TAAHTE

(d)  ATHHEEN

fr=fefaa 9 9 92 faweg =1 =21 Fifao

(1) (a). (b) 741 (d) (2) (a)d4 (o)

(3) a4 (c) (4)  (b). (c) 747 (d)
Options:

61547523989, 1
61547523930, 2
61547523931, 3
E1547523982. 4

Question Number : 24 Question Id : 6154756152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s not correct with reference to anumana according to classical Indian
school of logic?

(1) Linga/Sadhana 1s the middle term (2) Paksa 1s the minor term

(3) Sadhya 1s the major term (4) Hetu 1s the minor term

Options:

61547523993, 1
61547523994 2
61547523995 2
615475239396 4

Question Number : 24 Question Id : 6154756152 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A I TR T WO % SEN, A % G2l H a9 H R H wE aE A v

(1) o /aes e 0g 2 (2) wE T A UE 2
(3) WTI TH UH@ R R 4 FTFHFAMEEE
Options:

615475239583 1



B1547523994. 2
61547523985 3
61547523956, 4

Question Number : 25 Question Id : 6154756153 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two premises with four conclusions drawn from them. Which of the following
1s valid conclusion drawn from the premises?

Premises :
(1)  All diaries are coples
(1) No copy 1s book

Conclusions :
(a) Some diaries are books (b) Some books are coples
(¢) No book 1s copy (d) No diary 1s book

Choose the correct option :

(1) (a) and (b)
(2) (c) and (d)

(3) (b) and (c)

(4) (a) and (d)
Options:
61547523997, 1
61547523998, 2
61547523999, 3
61547524000, 4

Question Number : 25 Question Id : 6154756153 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a) 747 (b)
(2) (c) 74T (d)
(3) (b) 74T (c)
(4) (a) 941 (d)
Options:
1547522997, 1
E1547522998. 2

61547523999, 3
E1547524000. 4

Sub-Section Number: 2
Sub-Section 1d: 615475273
Question Shuffling Allowed : Yes

Question Id : 6154756154 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cesticn Label | Comprehension

Consider the table given below for total exports of six countries over five years (1n crores of
rupees) and answer the questions 26-30:

'\\Year 2008 | 2009 | 2010 | 2011 | 2012

Gounﬁ@*ﬂ
A 20 40 60 45 90
B 30 25 15 50 100
C 50 55 70 20 65
D 45 60 20 15 25
E 60 50 348 100 110
F 24 40 60 TS 120

Aszume : profit = Export — Import.

Sub questions



Question Number : 26 Question Id : 6154756155 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What was the profit of all the countries together in the vear 2012 if the total imports of all
the countries together was rupees 385 crore?

(1) Rupees 510 crore (2) Rupees 250 crore
(3) Rupees 160 crore (4) Rupees 125 crore
Options:

B1547524001. 1
61547524002, 2
61547524003, 3
61547524004, 4

Question Number : 27 Question Id : 6154756156 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If the ratio of export to import 1n country F and country D are 4 : 1 and 1 : 2 respectively in
the year 2008, then what 1s the total import of country F and D together in that particular
yvear? (in crores of rupees)

(1) 14 (2) 65
(3) 92 (4) 96
Options:

61547524005, 1
E15475240086, 2
E1547524007. 3
61547524008, 4

Question Number : 28 Question Id : 6154756157 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the export of country A in the yvear 2013 1s 20% more than the total export of country B in
2011 and the export of country E 1n 2010 together, then what was the profit of A in the year
2013 1f 1ts import was Rupees 92 crore for that yvear? (In crores of rupees)

(1) 10 (2) 22
(3) 34 (4) 46
Options:

61547524005, 1
61547524010, 2
61547524011, =
E15475240172. 4

Question Number : 29 Question Id : 6154756158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



By what precent 1= the average export of country E over all the given vears more than the
average export of country C over all the yvears?

7 7
1) 131 9) 1419
3 ¢ T
(3) 13%% (4) 14%%

Options:

61547524013, 1
61547524014, 2
61547524015 =2
61547524016, 4

Question Number : 30 Question Id : 6154756159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the percentage increase in the export of all the countres together from the year
2009 to 20117

(1) 35%% (2) 38%%
(3) 40%% (4) 38% %

Options:

615475240171
61547524018, 2
61547524019 =
61547524020 4

Question Id : 6154756154 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension

9T A9 SR B 2 % T FAE (FE 5. ") F A= § o arferm W B A SR e 26 5 30
EiaE

EE 2008 | 2009 | 2010 | 2011 | 2012

;'JI'.'-'—[

A 20 | 40 | 60 | 45 | 90

B 30 25 15 50 100

C 50 55 70 | 90 65

D 45 60 20 15 25

E 60 50 35 100 110

F 24 40 60 75 120

o =190 @8 = A — A



Sub questions

Question Number : 26 Question Id : 6154756155 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A 2012 = i 20 1 e HerE ha W R 91 s w29 1 Fer A 385 WS A17
(1) 5103 %, (2) 280 FTE.

(3) 160 Fs 7. (4) 125 F3 %,
Options:

61547524001, 1
E1547524002. 2
61547524003, 3
51547524004, 4

Question Number : 27 Question Id : 6154756156 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
gz ad 2008 AN F AR S D H 29709 SHId %A% 4 : | s 1 : 22 Al sHiad gy F e D

[

H 44 (2) 6
3 92 (4) 96

Options:

61547524005, 1
61547524006, 2
61547524007 2
E1547524008. 4

Question Number : 28 Question Id : 6154756157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ifz @9 2013 4 23 A %1 3= 29 B %1 2011 ¥ 3% 27 E %1 2010 § U 70 Fer @ ° 20 viae
AT 2 a1 A 1 2013 H Pl a1 @9 A1 IS SHRT 39 99 ATE 92 HS T, AT7

(1) 10 () 22
(3) 34 (4) 46
Options:

61547524009, 1
61547524010, 2
61547524011, =
B154752401%2. 4

Question Number : 29 Question Id : 6154756158 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= A9 = 20 29 E 1 S e 2 C % s i (39 990 SE) ° e st 2 e

7

(1 13-

= 1

3) 132%
7

Options:

61547524013, 1
61547524014, 2
61547524015, 5
61547524016, 4

Question Number : 30 Question Id : 6154756159 Question Type: MCQ Option Shuffling : No Display Question Number

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

7
9 14-L¢
) T
(4) 14%%

9 2009 F 2011 7 Tl T F AAE H Fe AR et g

(1) 35%%
(3) 4D§%

Options:

61547524017, 1
61547524018, 2
E1547524019 2
61547524020, 4

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

Question Number : 31 Question Id : 6154756160 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

represents raw facts, whereas

g 58 &7
@ 33%%
(4) 38% %

3
615475274
Yes

(1) Information. Bits
(3) Data. Information

Options:

61547524021, 1
61547524022 2
61547524023 =
61547524024, 4

(2) Records. Bytes
(4) Information, Reporting

1s processed meaningful data.

Yes

Yes



Question Number : 31 Question Id : 6154756160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT 929 & Falw Tfea 3790 ATRST 7
(1) 3=, foed (2) Towiza, sE2E
(3) =@, GEAl (4) T=, Toanten

Options:

61547524021, 1
61547524022 2
61547524023 2
61547524024, 4

Question Number : 32 Question Id : 6154756161 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following storage devices stores maximum amount of data?

(1) Compact disc (2) Floppy disc
(3 Hard disc (4) Magnetic optic disc
Options:

61547524025 1
61547524028, 2
E1547524027. 3
E1547524028. 4

Question Number : 32 Question Id : 6154756161 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frtefiaa 9 9 F=-H Gu=v A FETEE AR UEE il B 7

(1) =i o0 (2) e 2T
(3) = zE= (4) Huafzw s1ifes 20
Options:

61547524025, 1
E1547524026. 2
B1547524027. 3
B15475240258. 4

Question Number : 33 Question Id : 6154756162 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following 1s a computer based system that stores and manipulates data which
are viewed from a geographical point or reference?

(1) Database System (2) Geographical Information System
(3) Geographic Syatem (4) Software System
Options:

61547524029 1
61547524030, 2
E1547524021. 3
B1547524032. 4

Question Number : 33 Question Id : 6154756162 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frtatEd % 3 FHA-H1 UF FEgZ ARG IO 2 7 39 ATRS] i GulEd w4l 7 AR T Asars Fwdl
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(1)  =reEy ey (2) Hiifers geaT ToTE
(3)  HITeT womed (4) ETFEEE s
Options:

61547524029 1
61547524030, 2
E1547524021. 3
B1547524032. 4

Question Number : 34 Question Id : 6154756163 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

VDU stands for

(1) Virtual Display Unit {(Z) Virtual Detection Unit
{3) Visual Display Unit {(4) Visual Detection Unit
Options:

61547524033, 1
61547524024, 2
61547524035, 3
61547524036, 4

Question Number : 34 Question Id : 6154756163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



VDU f=fetfiga 1 4 foraer dfem am 27
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Options:

61547524033, 1
61547524034 2
61547524035 2
61547524026, 4

Question Number : 35 Question Id : 6154756164 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

International Computer Security Day 1s observed on

(1) 18% July (2y 30™ November
(3) 28d December (4) 23" December
Options:

61547524037, 1
61547524038, 2
E1547524039. 3
B1547524040. 4

Question Number : 35 Question Id : 6154756164 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

1) 18 F=E (2) 30 TR
3) 2 famm (4) 23 fgE=
Options:

E1547524037. 1
E1547524028. 2
61547524035, 3
61547524040, 4

Question Number : 36 Question Id : 6154756165 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Yes

Yes

Yes



Given below are two statements — one labelled as Assertion (A) and the other i1s labelled as

Eeason (R).
Assertion (A):  The impact of natural disasters does not depend on socio-economic factors.
Reason (R) : Natural disasters do not discriminate between people of a society and

other communities.

In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1= false but (R) 1s true

Options:

51547524041, 1
61547524042, 2
61547524042 5
61547524044 4

Question Number : 36 Question Id : 6154756165 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:



E1547524041. 1
B154752404%2 2
61547524043 3
61547524044, 4

Question Number : 37 Question Id : 6154756166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Under Kyoto Protocol. the first committment period for reduction of greenhouse gas
emissions by 37 industrialized and European community countries was :

(1) 1997 — 2005 (2) 2000-2012
(3) 2008 — 2012 (4) 2005-2015
Options:

61547524045 1
61547524046, 2
61547524047, 3
E1547524045. 4

Question Number : 37 Question Id : 6154756166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FATE TIEHRIe & Aad 37 ARG dT FEE THEE + 99 g #hd TE 1H Soaed & form gem
TiaEgT A F4 o7 7

(1) 1997 — 2005 (2) 2000-—2012
(3) 2008 — 2012 (4) 2005-2015
Options:

E1547524045. 1
E154752404E. 2
B1547524047. 3
615475240458, 4

Question Number : 38 Question Id : 6154756167 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Exposure to noise pollultion can cause
(a) Weakening of immune system
(b) Sleeplessness

(c) Speech interference

(d) Increase in blood pressure

(e) Shaft 1n threshold of hearing

() Respiratory problems

Choose the correct option from those given below :

(1) (a). (b). (c). (e) and (P (2) (b). (c). (d) and (e)
(3) (b). (c). (d). (e) and (f) (4) (a). (b). (c). (d). (e) and ()
Options:

B15475240439. 1
61547524050, 2
61547524051, 3
61547524052, 4

Question Number : 38 Question Id : 6154756167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Sﬂi:l giaéqu % qu{unqﬁl.-' :l
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(1) (a). (). (). (e) =TT B 2 (), (©), (d) =R (e)

(3) (b, (0). (d). (e) 3T () 4)  (a). (). (©). (d). () 31T (f)
Options:

E1547524043. 1
E1547524050. 2
B1547524051. 3
61547524052, 4

Question Number : 39 Question Id : 6154756168 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The potential of geothermal power in India 1s approximately

(1) 10 GW (2) SoGW
(3) 20 GW (4) 20 GW
Options:

61547524053, 1
61547524054, 2
61547524055, 3
E1547524056. 4

Question Number : 39 Question Id : 6154756168 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

g O T fRa §-ard faea =i gurera 2 7

(1) 10 TrmaTe (2) 5 TTTETE
(3) 20 TrTETe (4) 25 TmEE
Options:

61547524053, 1
E1547524054. 2
E1547524055. 3
B1547524056. 4

Question Number : 40 Question Id : 6154756169 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following air pollutants are produced from room deodorizers?

(1) Inhalable particulate matter

(2) Carbon monoxide

(3) Ozone

(4) Volatile organic compounds
Options:

B1547524057. 1
61547524058, 2
61547524055, 3
E1547524080. 4

Question Number : 40 Question Id : 6154756169 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical

Yes

Yes

Yes



Correct Marks: 2 WrongMarks: 0
freterfiEa & @ iH-= 919 T 4 Fiaenes (w9 fearsmesd) ¥ 47 wh 2 v
(1)  va==E FomHE 9=
(2)  THEA AEISAEEES

(3) A

(4)  =OIEiE wEE T

Options:

61547524057, 1
61547524058, 2
E1547524059 =2
61547524060, 4

Question Number : 41 Question Id : 6154756170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are the statements — one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (4) : Considering higher education as a non-priority for the state is linked to the
withdrawal of public funding to 1t.

Reason (R) : The pressure of free enterprise system in this regard 1s an attempt to

expand their educational market.

In the light of above two statements, choose the correction option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true

Options:
61547524061, 1

E1547524062. 2
E1547524063. 3
B1547524064. 4



Question Number : 41 Question Id : 6154756170 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547524061, 1
61547524062, 2
61547524063 =
61547524064, 4

Question Number : 42 Question Id : 6154756171 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

The community colleges have provisions for
(1) Single admission

(2) Concurrent admission

(3) Self-financing system

(4) Teaching at home

Options:

61547524065, 1
61547524066, 2
615475240687 2
E15475240E88. 4



Question Number : 42 Question Id : 6154756171 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AHEIE HETeee § gEaE o

(1) U= T=7

(2) HrEda! TE
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(4) =T fEreEe

Options:

61547524065, 1
61547524066, 2
61547524067, =
61547524068, 4

Question Number : 43 Question Id : 6154756172 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

An institution desirous of applying for deemed to be university status must have been 1n

existence for at least

(1) 5 Years (2) 10 Years
(3) 20 Years (4) 25 Years
Options:

E1547524063. 1
B1547524070. 2
B1547524071. 3
61547524072, 4

Question Number : 43 Question Id : 6154756172 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



B154752406%3. 1
B1547524070. 2
B1547524071. 3
E154752407%2. 4

Question Number : 44 Question Id : 6154756173 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The WTO negotiation on higher education deals with 1ssues hike :

(a) education as a free service

(h) vigorous soclal affirmation in developed countries
(c) assigning important role for civil society

(d) education as a trade

(&) education as a commodity

(f) withdrawal of public sector from higher education

Choose the correct answer from the options given below :

(1) (a). (c) and (d) (2) (a).(b)and (d)
(3) (b). (c) and (e) (4) (d).(e) and (D
Options:

615475240731
61547524074, 2
61547524075, 3
E1547524076. 4

Question Number : 44 Question Id : 6154756173 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3)  (b). (c) #T (&) (4)  (d). (e) ¥ (B
Options:

615475240731
61547524074, 2
61547524075, 3
E1547524076. 4



Question Number : 45 Question Id : 6154756174 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The objective of Indian Government behind setting up of HEFA (Higher Education Finance
Agency) 1= to provide financial support for :

(1)
(2)
(3)
(4)

Options:

Improvement of infra structure in premier institutions of the country
Research projects of faculty
Research collaboration between Indian and Foreign Universities

Research collaboration between Indian Institutions and Industry

B1547524077. 1
61547524078, 2
E1547524073. 3
615475240350, 4

Question Number : 45 Question Id : 6154756174 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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B1547524077. 1
B1547524078. 2
B15475240759. 3
61547524050, 4
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Sub-Section 1d: 615475275
Question Shuffling Allowed : Yes

Question Id : 6154756175 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Question Label . Comprehension



Read the following passage carefully and answer the questions that follows:

Under the labour theory of value, the value or price of a commodity depends exclusively on
the amount of labour going into the production of the commodity. This implies that either
labour is the only factor of production or labour is used in the same fixed proportion in the
production of all commodities and that labour is homogeneous, i.e. of only one type. Since
neither of these assumptions is true, we cannot base the explanation of comparative
advantage on the labour theory of values specifically, labour is not the only factor of
production. nor is it used in the same fixed proportion in the production of all commodities.
For example. much more capital equipment per worker is required to produce some products,
such as steel, than to produce other products such as textile. In addition, there is usually
some possibility of substitution between labour, capital and other factors in the production of
most commodities. Further more, labour is obviously homogeneous but varies greatly in
training, productivity and wages. At the very least, we should allow for different
productivities of labour. Indeed. this is how the Ricardian theory of comparative advantage
has been tested empirieally. In anv event, the theorv of comparative advantage need not he
based on the labour theorv of value but can be explained on the basis of the opportunity cost
theory which is acceptable. To be noted is that Ricardo himself did not belive in the labour
theory of walue and used it only as a simple way to explain the law of comparative
advantage. The law of comparative advantage is sometimes referred to as the law of
comparative cost.

Sub questions

Question Number : 46 Question Id : 6154756176 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What does the Labour Theory of Value imply?

(1) Labour 1= an extra factor in production
(2) Labour has a limited role in production
(3) Labour has the highest value 1n production

(4) Commodity price and labour value are directlv related

Options:

61547524081, 1
615475240382 2
61547524082 2
61547524054, 4

Question Number : 47 Question Id : 6154756177 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the Labour Theory of Value. when it comes to production of commodities. engagement of
labour 13

(1) heterogeneous (2) 1n fixed proportion
(3) in varied proportion (4) capital intensive
Options:

61547524055, 1
61547524056, 2
E1547524087. 3



E1547524088. 4

Question Number : 48 Question Id : 6154756178 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Products like steel need

(1) leas workers (Z) more workers
(3 more machines (4) less machines
Options:

E1547524089. 1
E1547524030. 2
B1547524091. 3
61547524082, 4

Question Number : 49 Question Id : 6154756179 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The Ricardian Theory 1s examined on the basis of

(1) labour value (2) homogeneity of labour
(3) different levels of labour productivity (4) law of possibility
Options:

B1547524083. 1
61547524084, 2
615475240385 3
61547524036, 4

Question Number : 50 Question Id : 6154756180 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to the author of the passage

(a) labour 1s the basis of commodity pricing

(b) labour can be substituted with capital

(c) less capital equipment per worker 1s required for products like textile
(d) opportunity cost can help explain comparative advantage

(e) Ricardo used the labour theory of value only to explain comparative cost
(D) Ricardo was not sure of his own theory

Choose the correct option :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) (d). (e) and (£ (4) (). (d) and (e)
Options:

61547524087, 1
61547524038, 2



E1547524093. 3
61547524100, 4

Question Id : 6154756175 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Juestion Label - Comprehension
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Sub questions

Question Number : 46 Question Id : 6154756176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
oeg % 49 TagE #1 Ay 27
(1) =™, Sc7724 | U =El B E
(2)  IemeA § 9m i v Himg girw 2
(3)  I0UEA H 4W F I=a9 A 7
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Options:
61547524051, 1
61547524082 2

61547524083, 3
61547524054, 4



Question Number : 47 Question Id : 6154756177 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) o= (2) Turiia aaEE
(3) TafEa ma=TE (4) I "EA
Options:

61547524055, 1
E1547524086. 2
E1547524087. 3
61547524088, 4

Question Number : 48 Question Id : 6154756178 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547524059. 1
E15475240380. 2
615475240381, 3
615475240382, 4

Question Number : 49 Question Id : 6154756179 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547524083, 1
61547524034, 2
61547524035, 3
E1547524036. 4

Question Number : 50 Question Id : 6154756180 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547524097, 1
61547524098, 2
61547524099 =
61547524100, 4
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Question Number : 51 Question Id : 6154756181 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the eight fold noble paths given by Budha. which of the following 1s the basis of Right
EKnowledge'.

(1) Right speech and Right Action
(2) Right Action and Right Living
(3) Right Thought and Right Concentration
(4) Right Faith and Right Resolve
Options:
61547524101, 1
61547524102 2

E1547524103. 3
E1547524104. 4

Question Number : 51 Question Id : 6154756181 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547524101, 1
61547524102 2
61547524102, 5
61547524104 4

Question Number : 52 Question Id : 6154756182 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Rapport Building’ will be emphasized in which of the counselling paradigm?

(1) Person-centred counselling (2) Darective counselling
(3) Behaviouristic counselling approach (4) Rational counselling
Options:

E1547524105. 1
61547524106, 2
61547524107, 3
61547524108, 4

Question Number : 52 Question Id : 6154756182 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475241051
61547524106, 2
E1547524107. 3
E1547524108. 4

Question Number : 53 Question Id : 6154756183 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Preamble to the Constitution of India mentions different types of Liberty for the people of
India. Which types of Liberty. out of these, have a direct bearing on the practitioners in the
field of education?

(1) Liberty of belief and faith (2) Liberty of thought and expression
(3) Liberty of faith and worship (4) Liberty of expression and belief
Options:

615475241091
61547524110 2
61547524111, 2
61547524112 4

Question Number : 53 Question Id : 6154756183 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475241051
61547524110, 2
61547524111, =
E1547524112. 4

Question Number : 54 Question Id : 6154756184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to Jain philosophy. when by the possession and practice of right faith. knowledge

and conduct. the influx of fresh Karmic matter 1= blocked, this state 1s called :

(1) Flow (Ashrava) (2) DBondage (Bandha)
(3) Stoppage (Sanvar) (4) Wearing out (Nirjara)
Options:

E1547524113. 1
61547524114, 2
61547524115 3
E1547524116. 4

Question Number : 54 Question Id : 6154756184 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475241121
E1547524114. 2
E1547524115 3
B1547524116. 4

Question Number : 55 Question Id : 6154756185 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Nearest ‘Kosha' to Atman according to Vedanta philosophy 1s called:

(1) Pranmava Kosha (2) Manomayva Kosha
(3) Vigyanmava Kosha (4) Anandmava Kosha
Options:

E1547524117. 1
E1547524118. 2
61547524115 3
61547524120, 4

Question Number : 55 Question Id : 6154756185 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547524117. 1
61547524118, 2
61547524115 3
61547524120, 4

Question Number : 56 Question Id : 6154756186 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Islamic tradition in education lays stress on inculcation of which of the values?

(1) Humility and nobility (2) Equality and equity
(3) Freedom and discipline (4) Quality and excellence
Options:

61547524121, 1
E1547524122. 2
B1547524123. 3
B1547524124. 4

Question Number : 56 Question Id : 6154756186 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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Options:

61547524121, 1
B1547524122 2
B1547524123. 3
B1547524124. 4

Question Number : 57 Question Id : 6154756187 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
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According to Sternberg which one of the following 1s the most important goal 1n learming
intelligent behaviour?

(1) Presenting and structuring of thoughts and ideas

(2) Probing and eliciting ideas

(3) Confronting novel tasks and situations of learming to deal with them
(4) Analyvsing the 1ssues involved 1n a situation
Options:

E1547524125. 1
B1547524126. 2
B1547524127. 3
615475241258, 4

Question Number : 57 Question Id : 6154756187 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547524125, 1
61547524126 2
61547524127, 2
61547524128 4

Question Number : 58 Question Id : 6154756188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the si1x basic types of learning as given by Tolman in his later theoretical articles. which
one 1s similar to Skinner’s conditioned reinforcers?

(1) Formation of Cathexis (2) ‘Equvalence beliefs’ learning
(3) Field expectancies (4) Drive discrimination learming
Options:

615475241291
61547524130, 2
61547524131, 3
E1547524132. 4

Question Number : 58 Question Id : 6154756188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547524129. 1
E1547524120. 2
61547524121, 3
61547524132 4

Question Number : 59 Question Id : 6154756189 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following subordinate laws in Thorndike's Theory of Learning is egquivalent to
Watson or Pavlov's Classical Conditioning Theory?

(1) Multiple responsze (2) Set or attitude
(3) Prepotency of elements (4) Associative shifting
Options:

615475241331
61547524134, 2
E1547524135 3
E1547524136. 4

Question Number : 59 Question Id : 6154756189 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

1547524132 1
61547524124 2
61547524135 5
61547524136 4

Question Number : 60 Question Id : 6154756190 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A student of class X approaches the class teacher and informs him/her that the schedule of
examination, when announced, makes him/her uneasy. What type of guidance does this
situation warrant?

(1) Educational guidance (2) Vocational guidance
(3 Personal guidance (4) Health guidance
Options:

E1547524137. 1
E1547524128. 2
61547524135 3
61547524140, 4

Question Number : 60 Question Id : 6154756190 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475241371
61547524138, 2
E1547524139. 3
B1547524140. 4

Question Number : 61 Question Id : 6154756191 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following commission/committee was required exclusively to address Teacher
Education in India?

(1) Yashpal Committee (2) Justice Verma Commission
(3) Chattopadhyaya Commission - I (4) Kothari Commission
Options:

615475241411
61547524142 2
E1547524143. 3
E1547524144. 4

Question Number : 61 Question Id : 6154756191 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547524141. 1
B1547524142 2
B1547524143. 3
61547524144 4

Question Number : 62 Question Id : 6154756192 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The Internship programme’ in teacher education has been provided to help:

(1) the teachers in school

(2) the student teachers in the training programme

(3) the teacher educators in the training institutions

(4) the principals of the school where internship in conducted
Options:

615475241451
61547524146, 2
E1547524147. 3
E154752414858. 4

Question Number : 62 Question Id : 6154756192 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547524145 1
61547524146 2
61547524147 2
E1547524148. 4

Question Number : 63 Question Id : 6154756193 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following assessment area of learning outcomes will belong to the category of

lower level?

(1) ability to analyze the facts and information

(2) ability to create and synthesize various facts together
(3) mastery of facts and information as shown in reproducing them when asked for
(4) ability to use standards and arriving at decisions

Options:

61547524149 1
61547524150, 2
E1547524151. 3
E1547524152. 4

Question Number : 63 Question Id : 6154756193 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
15475241459 1

E1547524150. 2
E1547524151. 3
61547524152, 4

Question Number : 64 Question Id : 6154756194 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

At the district level which of the following institution has been entrusted with the

responsibility of in-service teacher-education for primary and elementary schools?

(1) CTEs (2) IASEs

(3) SCERTSs (4) DIETs

Options:



E1547524153. 1
61547524154, 2
61547524155 3
61547524156, 4

Question Number : 64 Question Id : 6154756194 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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615475241521
61547524154, 2
61547524155 3
E1547524156. 4

Question Number : 65 Question Id : 6154756195 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

RUSA aims at :

(1) Providing strategic funding to eligible state higher educational institutions
(2) Faculty development programmes
(3) Funding the central universities for innovative research project
(4) Preparing a blue print for higher education system.
Options:

615475241571
61547524158, 2
61547524159, 3
E1547524160. 4

Question Number : 65 Question Id : 6154756195 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

‘AR 7 UH o UAEE 2

H.j RIER *’:LI*I S T"-:[--qu = m"'-m:h- _-F[ qr-'?’q:i]r r’j;-|q- E) ]:]_d-:-’q il T

(2)  ToeT T e

(3) TAET ATEEE THETSA B Fee i At # e

(4)  F=od foren wonell % foe = (s ) dam e



Options:

61547524157, 1
61547524158 2
£1547524159 =2
61547524160, 4

Question Number : 66 Question Id : 6154756196 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Broad functions of the SCERT are :

(1) Design and development of integrated teacher education courses of four year duration
(2) Preparation of a code of professional ethics for teachers
(3) Accreditation of teacher education institutions and their monitoring
(4) Development of curriculum, textbooks, training, research and innovation
Options:

61547524161, 1
61547524162 2
E1547524163. 3
B1547524164. 4

Question Number : 66 Question Id : 6154756196 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475241681, 1
61547524162, 2
61547524162 5
61547524164 4

Question Number : 67 Question Id : 6154756197 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which branch of philosophy has a direct relevance for deciding transzactional strategies of
curriculum?

(1) Metaphysics (2) Ontology
(3) Epistemology (4) Axiology
Options:

E1547524165. 1



E1547524166. 2
61547524167, 3
61547524168, 4

Question Number : 67 Question Id : 6154756197 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E1547524165. 1
61547524166, 2
B1547524167. 3
61547524168, 4

Question Number : 68 Question Id : 6154756198 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In developing ‘learning-outcome based curriculum’, the formulation of objectives 1n
behavioural terms poses challenge for which of the learning types given below?

(1) Learning of facts and information

(2) Learning of concepts and principles

(3) Learnming of application and use

(4) Learming of critical and creative thinking
Options:

B154752416%9. 1
61547524170, 2
61547524171, 3
61547524172, 4

Question Number : 68 Question Id : 6154756198 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E154752416%9. 1
B1547524170. 2
61547524171, 3
E154752417%2. 4

Question Number : 69 Question Id : 6154756199 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a research study the variable which 1s not directly cbservable but whose effect 13 inferred
on the dependent variable 1s termed as :

(1) Extraneous variable (2) Moderator variable
(3) Intervening variable (4) Treatment variable
Options:

615475241731
61547524174, 2
61547524175 3
61547524176, 4

Question Number : 69 Question Id : 6154756199 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475241731
61547524174, 2
61547524175 3
E1547524176. 4

Question Number : 70 Question Id : 6154756200 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The combination of different approaches to validate information. strategies, and results in a
research study 1s technically known as :

(1) Meta analysis (2) Triangulation
(3) Trend analysis (4) Cross validation
Options:

B1547524177. 1
61547524178, 2
61547524179 3
61547524180, 4



Question Number : 70 Question Id : 6154756200 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547524177, 1
61547524178, 2
E1547524178. 3
B1547524180. 4

Question Number : 71 Question Id : 6154756201 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

An 1nvestigator commits type II error when he / she

(1) rejects a null hypothesis when it 1s true

(2) accepts a null hypothesis when it 1s true

(3) rejects a null hypothesis when 1t 1s false

(4) accepts a null hypothesis when 1t 1s false
Options:

61547524181, 1
E1547524182. 2
E1547524183. 3
E1547524184. 4

Question Number : 71 Question Id : 6154756201 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547524181, 1
61547524182 2
61547524182 3
E1547524184. 4



Question Number : 72 Question Id : 6154756202 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following research designs utilizes data from individuals. autoblographies and
personal talks / discussions?

(1) Grounded theory design (2) Narrative research design
(3) Case study design (4) Ethnographic design
Options:

615475241851
E1547524186. 2
B1547524187. 3
61547524188, 4

Question Number : 72 Question Id : 6154756202 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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61547524185 1
61547524186, 2
E1547524187. 3
B1547524188. 4

Question Number : 73 Question Id : 6154756203 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which of the following. the main purpose of research 1s to formulate generalizations
leading to theory building?

(1) Phenomenology with subjective frame of reality

(2) Participant observation with focus on perspective

(3) Symbolic interaction with emphasis on social interaction

(4) Experimentation with controls and mampulation of variables
Options:

E1547524189. 1
615475241390, 2
615475241391, 3
61547524132 4

Question Number : 73 Question Id : 6154756203 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547524189, 1
51547524190, 2

615475241351, 3
615475241392 4

Question Number : 74 Question Id : 6154756204 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following research designs 1s the most appropmate for depicting lhived
experiential realities?

(1) Phenomenological designs (2) Case study designs
(3) Grounded theory designs (4) Narrative research designs
Options:

61547524192 1
E1547524134. 2
E1547524135 3
B15475241396. 4

Question Number : 74 Question Id : 6154756204 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E15475241593. 1
E15475241394. 2
615475241385 3
615475241396, 4

Question Number : 75 Question Id : 6154756205 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



An investigator wants to study the funectioming of a school meant for tribal children. The
most appropriate research design for this context would be classified as :

(1) Narrative Research (2) Phenomenology
(3) Grounded Theory (4) Ethnography
Options:

B1547524197. 1
615475241388, 2
61547524199 3
E1547524200. 4

Question Number : 75 Question Id : 6154756205 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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B1547524197. 1
615475241388, 2
61547524199 3
E1547524200. 4

Question Number : 76 Question Id : 6154756206 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

An 1nvestigator wants to conduct a study on politically active student-leaders in educational
mnstitutions. Which of the following methods of sampling would be most appropriate?

(1) Simple random sampling (2) Quota sampling
(3) Purposive samphng (4) Snow-ball sampling
Options:

E1547524201. 1
B1547524202. 2
61547524203, 3
61547524204, 4

Question Number : 76 Question Id : 6154756206 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547524201, 1
61547524202, 2
E1547524203. 3
B1547524204. 4

Question Number : 77 Question Id : 6154756207 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A welghing machine mostly over measures the weight of individuals. It will be said to be
indicative of :

(1) Random Error (2) Systematic Error
(3) Standard Error {4) Probable Error
Options:

E1547524205. 1
E1547524206. 2
B1547524207. 3
61547524208, 4

Question Number : 77 Question Id : 6154756207 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547524205. 1
E1547524206. 2
B1547524207. 3
61547524208, 4

Question Number : 78 Question Id : 6154756208 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are the assumptions underlying the use of parametric statistics :

(a) The variable being studied 1s continuous

(b) Measurements are based on nominal / ordinal scale
(c) Scores are normally distributed

(d) Variances over all groups are equal

Select the answer from the options given below:

(1) (b). (c) and (d)
(2) (a). (c) and (d)
(3) (a), (b) and (d)
(4) (a). (b) and (c)
Options:
61547524209 1
61547524210 2

E1547524211. 3
E1547524212 4

Question Number : 78 Question Id : 6154756208 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547524209, 1
61547524210 2
61547524211, =
61547524212 4



Question Number : 79 Question Id : 6154756209 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A standard of performance for a defined domain 1s termed as:

(1) Portfolio (2) Blue Print
(3) Rubrics (4) Achievement
Options:

E1547524213. 1
E1547524214. 2
61547524215 3
B1547524216. 4

Question Number : 79 Question Id : 6154756209 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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615475242131
61547524214, 2
E1547524215 3
BE1547524216. 4

Question Number : 80 Question Id : 6154756210 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

On the basis of Flanders' Interaction Analysis Categories (FIAC) in a 10 = 10 observation
matrx. the cells which indicate a sustained level of verbal interchange are known as :

(1) Content Cross Ratio (CCR) (2) Teacher Talk Ratio (TTR)
(3) Pupil Talk Ratio (PTR) (4) Steady State Ratio (SSR)
Options:

615475242171
61547524218, 2
61547524219, 3
E1547524220. 4

Question Number : 80 Question Id : 6154756210 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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B1547524217. 1
61547524218, 2
61547524219 3
61547524220, 4

Question Number : 81 Question Id : 6154756211 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A teacher intends to conduct remedial classes for some students who are not responding
satisfactorily. Which tvpe of evaluation she / he would undertake for choosing students for
her / his remedial classes?

(1) Summative Evaluation (2) Diagnostic Evaluation
(3) Assessment of Portfolios (4) Competency Based Evaluation
Options:

B1547524221. 1
B1547524222 2
G1547524223. 3
E1547524224. 4

Question Number : 81 Question Id : 6154756211 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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B1547524221. 1
B1547524227 2
E1547524223. 3
61547524224, 4

Question Number : 82 Question Id : 6154756212 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In Portfolio assessment. which of the following should be given priority?

(1) The specific nature of activities to be performed
(2) The norms following which the activities have to be regulated
(3) The duration of time allowed for completion of portfolio

(4) The rubrics 1in terms of which Portfolio will be judged

Options:

61547524225, 1
61547524226 2
61547524227, 2
61547524228 4

Question Number : 82 Question Id : 6154756212 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547524225, 1
61547524226 2
1547524227, 5
61547524228, 4

Question Number : 83 Question Id : 6154756213 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A teacher educator offers immediate comments in the following form for classroom behaviour

as being practiced by the student teacher

*No, you should do 1t rather this way”

This 1s an example of :

(1) Negative feedback (2) Corrective feedback
(3) Poszitive feedback (4) Ewvaluative feedback

Options:



B1547524229. 1
B1547524230. 2
61547524231, 3
E154752423%. 4

Question Number : 83 Question Id : 6154756213 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B1547524229. 1
B1547524230. 2
61547524231, 3
E154752423%. 4

Question Number : 84 Question Id : 6154756214 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

For classroom discussion sessions which of the following is the most appropriate in

encouraging reflection amongst learners?

(1) Individual and Group interaction sessions

(2) Think, Pair and Share Sessions

(3) Question and Answer Sessions
(4) Individual — work assignment based sessions
Options:

E1547524233. 1
B1547524234. 2
61547524235 3
61547524236, 4

Question Number : 84 Question Id : 6154756214 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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615475242331
61547524234, 2
61547524235 3
E1547524236. 4

Question Number : 85 Question Id : 6154756215 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the instructional design based on Skinner’s theory of reinforcement. which of the following

set of activities are appropriate?

(1)

(2)
(3)
(4)

Options:

Step by step presentation of learning material. student response and immediacy of
feedback

Planning, acting and observing
Instructional objectives. planning of teaching-learning systems and evaluation

Asking question. Guiding and Evaluating

E1547524237. 1
E1547524238. 2
B1547524235. 3
61547524240, 4

Question Number : 85 Question Id : 6154756215 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547524237, 1
61547524238 2
61547524239 2
61547524240 4

Question Number : 86 Question Id : 6154756216 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Combination of both face to face and traditional classroom methods with e-learning is used to

create a hybrid approach to teaching which 1s called as :

(1) Distance learning

(2) Blended learning

(3) Synchronous learning
(4) Asynchronous learning
Options:

B1547524241. 1
B154752424%2 2
61547524243 3
E1547524244. 4

Question Number : 86 Question Id : 6154756216 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547524241, 1
61547524242 2
E1547524243 =2
61547524244 4

Question Number : 87 Question Id : 6154756217 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What describes a virtual classroom?

(1) Learners using technology 1n a classroom environment led by a tutor
(2) A training course done using you-tube tutorials
(3) On-line learning environment accessed through the Webinars
(4) On-line live learning course
Options:

61547524245 1
61547524245, 2
E1547524247. 3
E1547524248. 4

Question Number : 87 Question Id : 6154756217 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547524245 1
61547524245 2
61547524247 3
61547524245 4

Question Number : 88 Question Id : 6154756218 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0



Use of Educational Technology 1in open and distance learning 1s helpful 1n :

(a) Promoting learner interest

(b) Ensuring cost effectiveness of the system

(c) Facilitating learners to benefit from varied learning resources

(d) Determining learner status in teaching-learning processes

(e) Making learners active participants in teaching learning processes

Select the answer from the options given below:
(1)  (b). (c). (d) and (e)
(2) (a). (c). (d) and (e}
(3) (a). (b). (c) and (e)
(4) (a). (b). (d) and (e)

Options:

61547524249, 1
61547524250 2
61547524251, 5
61547524252 4

Question Number : 88 Question Id : 6154756218 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 89 Question Id : 6154756219 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0

Whach of the following has the high potential for empirical validation in using Educational
Technology?

(1) Text book (2) Printed lectures of Distance Education
(3) Modular reading materals (4) Programmed Instructional material
Options:

E1547524253. 1
B1547524254. 2
61547524255, 3
61547524256, 4

Question Number : 89 Question Id : 6154756219 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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61547524252 1
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B1547524256. 4
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Which of the following statements explain the management principle “Span of control”
propounded by Fayol?

(1) One can work effectively for hmited hours

(2) One can work with hmited number of people

(3) One can make 4-6 people work effectively under him / her
(4) Only 4-6 people can make an effective group

Options:
E1547524257. 1

B1547524258. 2
B1547524259. 3
B1547524260. 4
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Which of the following averments constitute ‘Critical Pedagogy’ of Paulo Freire?

(a) Teaching 1s inherently political

(b) Teaching implies absence of neutrality of knowledge

(c) Teaching 1s pro-establishment

(d) Issues of social justice and democracy are integral part of teaching

(e) Teaching 1s away from social reality

Choose yvour answer from the options below :

(1) (a). (b) and (c) (2)  (b). (c) and (d)
(3)  (a). (b) and (d) (4) (c). (d) and (e)
Options:

BE1547524261. 1
B1547524262. 2
B1547524263. 3
61547524264, 4

Question Number : 91 Question Id : 6154756221 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Strengths of “Behaviourism™ as learning theory are :
(a) It provides clear predictions

(b) It has real Iife applhcation

(c) It 1= too determmnistic

(d) It has reductionist approach

(e) It emphasizes objective measurement
Choose the answer from the following options :

(1) (a). (b) and (c)

(2) (b). (c) and (d)

(3)  (a).(b) and (e)

(4) (c), (d) and (e)

Options:
61547524265, 1
61547524266 2

E1547524287. 3



E1547524268. 4
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Disadvantages of Bottom up approach of Budgeting are that the budget :

(a) may not be synchronous with the overall objectives of the organisation
(b) will be more realistic

(c) can be gquite accurate

(d) preparation may be slow

Select the answer from the options given below :

(1) (a) and (b)
(2) (c) and (d)
(3) (a) and (d)

(4)  (b)and ()
Options:
61547524269 1
61547524270, 2
61547524271 2
B1547524272 4
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What are the reasons of negligible number of studies of cost-effectiveness analysis (CEA) of
projects 1n the field of Education?

(a) Evaluator’s inadequate background in CEA

(b) Lack of requisite exposure in CEA

(c) Lack of farmliarity of the decision-makers with CEA

(d) Less welghtage assigned to educational concepts in CEA

Select your answer from the options given below :

(1)  (a). (b) and (c)
(2) (b). (c) and (d)
(3) (c). (d) and (e)
(4) (a). (c) and (d)

Options:

61547524273, 1
61547524274 2
E1547524275 2
61547524276, 4
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The basic competencies needed for an effective teacher education programme have to be
related to which of the following personality and attitude related domains?

(a) Locus of control

(b) Communication

(c) Managing

(d) Monitoring

(e) Self-efficacy

() Positive expectancy

Select the answer from the options given below :

(1) (a). (b) and (c)
(2) (b). (¢) and (d)
(3) (. (e)and (D
(4) (a). (e) and (D)

Options:

61547524277,
61547524278,
61547524279,
61547524280,
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Which of the following action words when emphasized in Teacher Education will form part of

reflective teaching styles?

(a) Plan. act and improve
(b) Design, deliver and evaluate
(c) Engage. explore and evaluate

(d) Explain. clarify and elaborate

(e) Praise, encourage and influence

Choose the correct option from the following list.

(1) (a) and (b)
(2)  (c) and (d)
(3)  (d) and (e)
(4)  (b) and (c)

Options:

61547524281,
61547524282,
61547524283,
£1547524284.
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Professionalization of Teacher Education is needed to

(a) enrich teacher’s knowledge of subjects being taught

(b) sharpen teaching skills 1n the classroom

(c) generate and contrmbute new knowledge for the profession
(d) train the students to be tech-savy

(e) help teachers to open coaching centers

Select the correct option from the following :

(1) (a). (b) and (c)
(2)  (b). (c) and (d)
(3) (). (d) and (e)
(4) (d). (e) and (a)

Options:

61547524285, 1
61547524286 2
E1547524287. 2
615475242588, 4
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In Planning In-service Teacher Education programs in India, which of the following are most

1important?

(a) making 1n-service teaching-learning systems as an integral part of teacher
preparation

(b) focusing on human resource development

(c) Enhancing financial budget and infrastructure
(d) Increasing the duration of In-service Teacher Education program

(e) Emphasis on building commitment and confidence level of teachers

Choose the correct option from the following.

(1)  (a). (b) and (c)
(2) (b). (c) and (d)
(3)  (a). (b) and (e)
(4) (). (d) and (e)

Options:

61547524289, 1
61547524290 2
61547524291, 2
E1547524292 4
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For addressing needs of learners through a curriculum design which of the following bases

have to be relied upon and given consideration?

(a) developmental stage of the learner
(b) socio-cultural backeround of the learner
(c) dominant caste structure from which learners hail

(d) mobility of the learner’s family

(e) Cognitive characteristics of the learner

Choose the answer from the options given below:

(1)  (a). (b) and (e)
(2)  (b). (c) and (d)
(3)  (b). (c) and (e)
(4) (c), (d) and (e)

Options:

61547524293, 1
61547524294 2
E1547524295 =2
61547524296, 4
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The Academic and Administrative Reforms Committee of U.G.C. has given recommendations
in respect of curriculum development suggesting some needed steps.

Identify them from the following list.

{a) Development of model curriculum

(h) Updation / revision of curriculum to a limited extent every vear and substantially
every three vears

(e) Updation of curriculum to be carried out in terms of current knowledge, national and
international developments

(d) Fresh entrants to be given induction training

{e) Curricular transactions and svnergies of all faculty members

Choose the answer from the options given below:

(1) {a), (b) and (c)
(2) {(b). (c) and (e)
(3)  (b). (c) and (d)
(4) {e), (d) and (e)
Options:
61547524297, 1
615475242958 2

E15475242399. 3
51547524200, 4
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Which of the following factors influence curriculum change?

(a) Growth 1n knowledge

(b) Technology change

(c) Needs and aspirations of people
(d) Job-placement

{(e) Availability of competent teachers

Choose the answer from the options given below:

(1) (a). (b) and (e)
(2) (a). (b) and (c)
(3) (a). (c) and (d)

(4)  (b), (c) and (e)

Options:
1547524201, 1

E1547524202. 2
61547524203, 3
61547524204, 4
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Curriculum change envisages which of the following

(a) Change 1n aims and objectives
(b) Change 1n contents
(c) Change 1n infrastrucutre

(d) Change 1n methods of teaching

(e) Change 1n evaluation process

Choose the answer from the following:

(1) (a). (b). (c) and (d)
(2)  (a). (c), (d) and (e)
(3)  (b). (c). (d) and (e)
(4) (a), (b). (d) and (e)

Options:
E1547524=05.

E1547524206,
B1547524207.
51547524208,
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Which of the following statements are true for a historical research design?

(a) Mostly based on qualitative data

(b) Testing hyvpothesis 1s an integral part

(c) Findings can be generalized to other situations
(d) Data are examined for valhidity and authenticity
(e) Content-analysis 1s used for data treatment

Choose the correct option :

(1) (a). (b) and (e)
(2) (b). (c) and (e)
(3) (a). (d) and (e)

(4) (b). (c) and (d)

Options:

61547524209 1
61547524210, 2
61547524311, =
61547524312 4
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Which of the following statement are true from reliability of a research tool?

(a) Rehability 1s fixed for a given testing tool

(b) It 1z correlation of scores on the testing tool 1tself
(c) Reliability can have negative value

(d) It varies from sample to sample

(e) It 1s affected by variance of scores.

Choose the correct option :

(1) (a). (c) and (d)
(2) (b). (d) and (e)
(3) (a). (b) and (d)

(4) (c), (d) and (e)

Options:

61547524213, 1
61547524214 2
61547524315 2
61547524316 4

Question Number : 104 Question 1d : 6154756234 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TRl Tmer Sy 1 favaesEaT & Ton feferias H9 5 § e "8l 5 7
(@)  ToRdl fou 7o wiian) o o T favassiEar Had el e

(b) == FIE ITH W ATHIH F T Y 7

()  TavesH=aT 1 9T FeHAF 7 THAT 7

(d) == wfaes & R W 9REd w6 e

() = WIHTHI i Terrorfierar & waTfaa Fm ®

1) (@. () R (@)
(2)  (b). (d) #E (e)
3 (@. (b) IR (D)
4 (o). (d) FH (e)

Options:

61547524213, 1
61547524214 2
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61547524316 4

Question Number : 105 Question Id : 6154756235 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In Flanders Interaction Analysis Categories (FIAC) which of the following are related to
Indirect Teacher Talk (ITT)

(a) Lecturing

(b) Giving directions

(c) Acceptance of feelings

(d) Criticizing or justifying authority by the teacher

(e) Praising or encouraging

(£) Using student 1deas in his/her talk by the teacher

Select the correct answer from the following options.

(1)  (a). (b) and (c)
(2) (c). (e) and (D
(3)  (d), (e) and (D)
(4) (b). (c) and (d)

Options:

61547524317,
£1547524218.
61547524219,
615475242320,

o LIRS
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61547524317, 1
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61547524320 4
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Which of the following learning outcome based behaviours belong to the category of being
high in terms of taxonomiec categories In cognitive domain?

(a) Analysis

(b) Application

(c) Comprehension
(d) Creation

(e) Critical thinking
(H Enowledge

Select the correct answer from the following options.
(1) (a). (c) and (e)
(2)  (a). (d) and (e)
(3) (b). (d) and (f)

(4) (). (d) and (e)

Options:

61547524321, 1
61547524322 2
61547524322 2
E1547524224 4
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In which of the following set 1s stipulated the highest level category of taxonomies in

cognitive, affective and psycho-motor domains respectively?
(1) Synthesis; Valuing; Articulation

(2) Analysis: Recelving: Manipulation

(3) Application: Organization ; Precision
(4) Evaluation: Characterization; Naturalization
Options:

615475243251



B1547524326. 2
B1547524327. 3
61547524328, 4
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61547524325 1
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Which of the following statements are indicative of formative assessment mode?

(a) The teacher encourages students to answer

(b) The teacher asks questions to motivate students

(c) The teacher assesses the comprehension of students towards the end of the umt
transaction

(d) The teacher judges the level of performance after the unit test

(e) The teacher provides prompts to help students to avoid incorrect responses

Select the correct answer from the following options.

(1) (a). (b) and (c)
(2) (a). (b) and (e)
(3)  (b). (c) and (d)
(4) (o). (d) and (e)

Options:

61547524329, 1
615475243220 2
E1547524221. 2
61547524222, 4
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61547524329, 1
615475243220 2
61547524221, 5
61547524332 4
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According to Robert M. Gagne. which learning types precede concept learning?

(a) Rule learning

(b) Sign learming

(c) Problem solving learning
(d) Verbal association learning

(e) S-R learning

Choose the correct option :

(1) (a). (b) and (e)
(2)  (b). (c)and (e)
(3) (b). (d) and (e)
(4)  (c). (d) and (e)

Options:

61547524553 1
61547524224 2
61547524335 2
61547524336 4
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The ethical and social 1ssues of information systems are becoming more important these days

because of the increased

(a) use of the internet

(b) use of learming new technology

(c) monitoring of employees 1n the institutions
(d) cost of information systems

(e) use of interconnected information systems

Select the correct answer from the options given below.

(1) (a) and (e)
(2)  (a)and (b)
(3) (b) and (c)
(4)  (d) and (e)

Options:

615475243571
615475242328, 2
61547524229, 5
61547524340 4
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61547524237, 1
61547524328, 2
61547524339 2
61547524340 4
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From the following list of statements, identify those which describe the characteristics of
transactional leadership style :

(a) Role and goal clarty

(h) Raising commitment and motivational level

(c) Emphasis on competency building

(d) Momitoring people

(e) Counselling people and inspiring

Choose the right answer from the following options.

(1) (a). (b) and (c)
(2) (c). (d) and (e)
(3) (a). (c) and (d)
(4) (b). (d) and (e)

Options:

61547524341, 1
61547524342 2
E1547524243 =2
61547524244, 4
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How would vou as a teacher 1dentify students with mild learning impairment in the class?

(a) The learner keeps hand near his / her ear when you speak to him / her

(b) The learner leans towards vou in an attempt to hear better

(c) The learner squeezes his / her eves and looks at you

(d) The learner does not respond to your calling unless someone tells him / her

Choose correct answer from the following options below.

(1) (a). (b). (d)
(2) (a). (b). (c)
(3) (b). (¢). (d)

(4) (a). (c). (d)

Options:

51547524345,
£154752434E,
61547524247,
61547524348,

[
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61547524345 1
61547524340 2
615475243247 2
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Which of the following are barrers in the way of Education to be inclusive?

(a) Parents do not send children with special needs to schools
(b) Non-availlability of suitably trained teachers
(c) Children with special needs get legal protection

(d) Scarce financial provision from the government

Select correct answer from the options given below.

(1) (a). (b). (d)
(2) (a). (c). (d)
(3) (a). (b). (c)

(4) (D). (c). (d)

Options:

61547524249, 1
61547524350 2
61547524351, 2
61547524352 4
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What are the measures suggested by United Nations Convention on the Rights of Persons

with Disabilities (UNCRPD)?

(a) Ensure full and equal enjovment of human 1rghts
(b) Ensure fundamental freedom to all persons with disabilities
(c) Ensure legal actions for parents not sending children to school

(d) Promote respect for inherent dignity of such children

Choose correct answer from the following.

(1) (a). (c). (d)
(2) (a). (b). (d)
3) (). (). (d)

(4) (a). (b). (c)
Options:
61547524353 1
61547524254 2
61547524355, 3
61547524356 4
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615475243531
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61547524355 5
61547524356 4
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Which of the following are needed for inclusive education to be successful?

(a) Availability of trained teachers in schools

(h) Availability of infrastructure 1n schools

(c) Asking parents of children with special needs to send their wards to special schools
(d) Appointment of trained Counsellors 1n schools

Choose correct answer from the options given below:

(1) {a). (h). (c)
(2) (b). (c). (d)
(3 {a). (b). (d)

{4) {a). (c). (d)

Options:

615475243571
61547524258, 2
61547524359 5
61547524360 4
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In the two sets given below. Set I mentions some of the evolutes of Prakiti while Set II
indicates their nature and function in term of Sankhya philosophy. Match the two sets.

(a)

(b)

(c)

(d)

Select correct answer from the following options.

(1)
(2)
(3)
(4)

Options:

List I
(Evolution of Pralati)

Mahat. the great

Ego (Ahankar)
Mind (Manas)

Subtle eszences (Tanmatras)

(a)-(2). (b)-(iv). (c)-(11), (d)-(11)
(a)-(v). (b)-(ild). (¢)-(11). (d)-(1)
(a)-(11), (b)-(111), (c)-(1v). (d)-(1)
(a)-(111), (b)-(1). (0)-(@). (d)-(1v)

61547524361, 1
E1547524362. 2
B15475245363. 3
B15475242364. 4

List 1T
(Nature and function)

Are neither the qualities nor the
differentia of gross elements nor the
functions

It 12 cosmic 1n nature and functions as
a paychological aspect of knowing

It 1s the principle of individuation and
1ts function 1s to generate self-sense

It 1s the subtle and central sense organ
which synthesizes sense data into
determinate perception
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61547524562 2
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In the two sets given below. Set I mentions the western schools of thought. while set II offers
their visualiation of teacher’s role. Match the two sets.

Set I Set I1
(Western school of thought) (Teacher’s role visualized)

(a) Idealism (1) To assist each student personally 1n
his / her journey towards self-
realization

(b) Realism (11) To function as a consultant in problem
situation

() Pragmatism (111) To be a role model to be emulated

(d) Existentialism (1v) To impart knowledge

Choose correct answer from the options given below.

(1) (a)-(1). (b)-(11). (e)-(111), (d)-(1v)
(2) (a)-(111), (b)-(1v), (¢)-(11), (d)-(1)
(3)  (a)-Gv). (b)-(i1). (¢)-(11). (d)-()
(4) (a)-(v). (b)-(111). (c)-(1). (d)-(11)

Options:

15475242685 1

1547524366 2

E1547524367. 3
E1547524268. 4

Question Number : 117 Question Id ;: 6154756247 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



= f2u U 2E e 0 F, 2] He F uvEe 29 W AvA 7, war ge-I1 faees F g & uta S

wel He-I1
(P =1 o=y i) (Foreaem <1 gféreer o6 st 4 foreme 2f2)
(a) AR @) oY F U W T SE/EE #
(b) TS (i) @ i et A w6 g
() TR (i) STTFIOE TS0 =
(d) A (1v) 3 ==20
fefetfas faspea 4 9 30 =1 =9 =

1) (@-@. (b)-(11). (c)-(11), (d)-(iv)
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(3) (a)-(1v). (b)-(m1). (c)-(11). (d)-(1)
(4) (a)-(1v). (b)-(111). (c)-(1). (d)-(11)

Options:

61547524365, 1

61547524366, 2

G1547524367. 3
61547524368, 4
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Under Set I are given the names of Indian thinkers and Under Set II are their outstanding
works. Match the two sets.

Set I Set 11
(Thinkers) (Works)
{a) Swami Vivekananda (1)  Gitanjah
(b} Rahindranath Tagore (11) The First and Last freedom
(c) M.K. Gandhi (111) Modern India
(d) J. Krshnamurti (tv) My Experiments with Truth

Choose vour answer from the options given below.

(1) (a)-(11). (b)-(u). (e)-(1v). (d)-(1)
(2) (a)-(1v). (b)-(11). (e)-(111). (d)-(1)
(3) (a)-(111). (b)-(1). (e)-(1v). (d)-(11)
(4) (a)-(1), (b)-(m1). (e)-(11), (d)-(1v)

Options:

61547524369, 1
61547524370 2
61547524371, 2
E15475243272 4
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(1) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)
(2)  (a)-(v). (b)-(11). (e)-(1i). (d)-(D)
(3)  (a)-(m). (b)-(1). (e)-(1v), (d)-(11)
(4) (a)-(1). (b)-(ii1). (c)-(i1). (d)-(1v)

Options:

61547524369, 1
E1547524270. 2
61547524271, 5
61547524372 4
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Given below are two sets. Set I mentions some terms from the Preamble to the Constitution
of India and Set II gives their explanation. Match the item from Set I with explanation from
Set I1T

Set I Set IT
(Terms) (Explanation)
(a) Socialism (1) State has no religion. it is neither pro
nor against any religion
(b) Secularism (1) a system in which government is
elected and managed by the people of
the country

(c) Democacy (m) Political 1dea that all people are equal
and resources should be equally
shared

(d) Republic (Iv) a natlon state that has an elected
zovernment and elected leader
Select correct answer from the following options:

(1) (a)-an). (b)-Q). {e)-(11). (d)-(1v)
(2)  (a)-(v). (b)-(1i). (¢)-(1i1). (d)-(1)
(3)  (a)-(1), (b)-(11), (c)-(v). (d)-(2)
(4) (a)-(1), (b)-(1v). (c)-(11), (d)-(112)

Options:

61547524373, 1

61547524374 2

61547524375, 3

61547524376, 4

Question Number : 119 Question Id : 6154756249 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  (a)-(). (b)-(). (e)-(11). (d)-(1v)
(2)  (a)-av). (b)-(1). (¢)-(11), (d)-(1)
(3)  (a)-(i), (b)-(11), (c)-(v), (d)-()
4 (a)-). (b)-(v). (¢)-(11). (d)-(111)

Options:

15475243751

1547524374 2

61547524375 3
E1547524376. 4

Question Number : 120 Question Id : 6154756250 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following two sets. in which Set I indicate the underlying purpose and Set II
status the levels of teaching.

Set I Set IT
(underlying purpose) (levels of teaching)

(a) The main objective 1s to know the (1) Autonomous development level
subject In depth and developing
insight leading to clarity of structures
(b) The main emphasis 18 on orderlv (1) Memory level
presentation of thoughts leading to
their longer retention

(c) The basic purpose 13 to engage (1) Understanding level
students 1n clear, coherent and critical
thinking leading to patterns of
thought
(d) Purpose 1= to promote self-feelings (1v) Reflective level
leading to a sense of freedom
Select the correct answer from the following options.

(1) (a)-(1). (b)-(m1). (c)-(1), (d)-(v)
(2) (a)-(11). (b)-(v). (c)-(1). (d)-(111)
(3)  (a)-(v). ()-(). (c)-(a11), (d)-(11)
@ ()-Gi). B)-AD. ©-v). (-0

Options:

615475243771

61547524378 2

615475242749 2

61547524380, 4

Question Number : 120 Question Id : 6154756250 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(1). (b)-(i1). (c)-(11), (d)-(1v)
(2)  (a)-@1). (b)-(v). (c)-(. (d)-(111)
(3)  (@-(v). (b)-(). (e)-(11), (d)-(11)
4)  (a)-(). (b)-(u), (e)-(1v). (d)-(2)

Options:

61547524377 1

61547524378 2

E15475242373. 3
E15475242380. 4

Question Number : 121 Question Id : 6154756251 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Below are given two sets 1n which Set I gives the named theory of Intelligence which set II
indicates thelr main proponents and contentions assoclated with the theory. Match the two

sefs.

Set 1
{(Theory of Intelligence)
(a) Multiple Factor Theory

(b)  Theory of Multiple Intelligence

(¢) Theory of Fluid and Crystallized
Intelligence
(d) Coping Theory of Intelligence

Choose correct answer from following.

(1) (a)-(11). (b)-(1v). (c)-(11). (d)-(1)
(2) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(3) (a)-(1v). (b)-(111). (c)-(1). (d)-(11)
(4) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)

Options:

615475245511
61547524382, 2
61547524383 2
61547524354 4

Set 11

(The main proponents and contentions)

(1)

(11)

(111)

(1v)

Sternberg. intelligence can be taught
and the classroom 15 the logical place
to teach 1t

Cattell. 1ntelligence 13 neither
completely monarchic. nor ohgarchic
nor anarchic

Thurstone. intelligence 1s oligarchic in
nature

Gardner. 1intelligence 1s a capacity
with component processes and should
not be confused with a learning or
cognitive style

Question Number : 121 Question 1d : 6154756251 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  (a)-(m1). (b)-v). (c)-(11), (d)-(Q)
(2) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(3) (a)-(1v). (b)-(111). (c)-(1). (d)-(11)
@ (@-), (0)-Q). (c)-(v). (d)-(111)

Options:

£1547524381. 1

£1547524382. 2

£1547524383. 3

£1547524384. 4

Question Number : 122 Question 1d : 6154756252 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Below are given two sets iIn which Set I provides the give dimensions of Emotional
Intelligence (EI) and Set II offers their characteristics. Match the two sets.

Set I Set IT
(EI dimensions) (Characteristics)

(a) Self awareness (1) Ability to guide others’ emotions and
the way they act

(b) Self management (1) Being able to sense what others feel
and want

(c) Self motivation (m) Enowledge of true feeling at the
moment

(d) Empathy (iv) Handling one’s emotions to facilitate
rather than hinder the tasks at hand

(e} Social skills (v) Staying 1n the course towards desired
zoal

Choose answer from the following options

(1) (a)-(1). (b)-(11). (e)-(111). (d)-(v). (e)-(iv)
(2) (a)-(v), (b)-(iv). (c)-(11). (d)-(1). (e)-(i11)
(3)  ()-Gi). (b)-(1v). (c)-(v). (d)-(1), (e)-(1)
4 (a)-(). (b)-(11), (c)}-(v). (d)-(v). (e)-(1)

Options:

615475245551
61547524386, 2
61547524387, o
61547524388, 4

Question Number : 122 Question Id ;: 6154756252 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a)
(b)
(c)
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(e)
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(1)
(2)
(3)
(4)

Options:

(a)-(1). (b)-(11). (c)-(111). (d)-(v). (e)-(iv)
(a)-(v), (b)-(iv). (c)-(11). (d)-(1). (e)-(i11)
(a)-(11), (b)-(1v), (¢)-(v). (d)-(11), (e)-(1)
(a)-(11). (b)-(111), (c)-(av). (d)-(v). (e)-(1)

61547524385, 1
E1547524386. 2
B1547524387. 3
B1547524288. 4

(1)

Tz 11
(fererama)

(i) T o fae 5 arEtas 919 % 5H
(iv) T9@ F@ =+ U1 * T99 G0 sH +

(v)

o e W T
T FET = Wid 3@ 74 A

Question Number : 123 Question Id : 6154756253 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two sets in which Set I provides the five steps of Morrison's Teaching Model
and set II gives their description. Match the following.

Set 1 Set 11
(Steps of Morrson's Teaching Model) (Description of steps)

(a) Exploration (1) asking students to present their
acquired 1deas without help of teacher

(b) Presentation (1) helping students to relate presented
material to their internal self

(¢) Assimilation (1) ascertaining the previous task-related
behaviour of students

(d) Orgamization (1v) rewvisiting the material

(e) Recitation (v) describing the theme to be taken up

for discussion

Select the correct option:

(1) (a)-(11). (b)-(111), (c)-(1v). (d)-(v). (e)-(1)
2)  (a)-(v). (b)-(111). (c)-(v). (d)-(1). (e)-(11)
(3)  (a)-(id). (b)-(v). (e)-(ii), (d)-(). (e)-(iv)
4)  (a)-(). b)), (e)-Gv), (d)-(i). (e)-(ii1)

Options:

61547524389, 1
61547524390 2
E1547524291. 2
61547524292, 4

Question Number : 123 Question Id : 6154756253 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(2) (a)-(v). (b)-(m1). (c)-(v). (d)-(2). (e)-(11)
(3) (a)-(111). (b)-(v). (c)-(11), (d)-(1). (e)-(1v)
(4) (a)-(1). (b)-(v), (¢)-(1v), (d)-(11). (e)-(111)

Options:

61547524359, 1
E154752423390. 2
E15475242391. 3
B15475242382. 4

(1)
(11)
(111)

(1v)

(v)
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Question Number : 124 Question Id : 6154756254 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Below are given two sets in which set I gives the names of proponents of constructivist
approach while set II offers the recommended procedures for knowledge construction.

Set I Set II
{(Proponents) (Knowledge construction procedure)
(a) Jean Piaget (1) activation. maintenance and direction

based exploratory learning approach

(b) Gerome Bruner (1) advanced organizer. expository
organiser and comparative organizers
based learners approach

(c) Dawvid Ausubel (11) peer group based interactive and social
learning approach

(d) Lev Vygotsky (iv) assimilation, accommodation and
adoption based cognitive approach

Select the correct option from the following.

(1) (a)-v). (b)-(). (c)-(11). (d)-(i11)
(2)  (a)-(i). (b)-(v). (c)-(), (d)-(1)
(3)  (a)-@). (b)-(u1), (¢)-(av), (d)-()
(4)  (a)-(1). (b)-(1). (c)-(iid). (d)-(iv)

Options:

615475245493 1
61547524294, 2
61547524295 5
61547524396, 4

Question Number : 124 Question 1d : 6154756254 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) (a)-(v). (b)-(1). (c)-(11), (d)-(11)
(2) (a)-(m), (b)-(1v). (c)-(1), (d)-(11)
(3)  (a)-1). (b)-(1id). (c)-(1v), (d)-(1)
(4) (a)-(1). (b)-(11). (c)-(n1), (d)-(iv)

Options:

1547524292 1

C1547524294, 2

61547524595 2

61547524596, 4

Question Number : 125 Question 1d : 6154756255 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



In the following two sets. Set I indicates various components of teacher education
programme and set I gives the rationale for providing such components. Match the two sets.

Set [ Set IT
(Various components of Teacher education)  (Rationale for providing such components)
(a) Foundation courses (1) For promoting application of
knowledge and skills
(b) Elective courses (1) For enabling the students to

understand the basic principles
underlying teaching-learning process

(c) Practical and Practicum courses (m1) For providing situations of applving
pedagogical knowledge of skills

(d) Enhancing professional competencies (1v) For broad basing the competencies of
courses teaching

Select the correct option from the following

(1) (a)-@G1). (b)-(A). (e)-(id). (d)-(Gv)
2 (a)-@). (b)-(1). (¢)-(v). (d)-(111)
(3)  (a)-Gv). (b)-(ii). (c)-(1). (d)-(1)
(4) (a)-(11), (b)-(av). (c)-(1), (d)-(11)

Options:

61547524397, 1
61547524398 2
61547524299, 5
61547524400, 4

Question Number : 125 Question Id : 6154756255 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (@-@). (b)-Q). (c)-(i11). (d)-(iv)
2)  (@-@). (b)-(1). (c)-(iv). (d)-(11i)
(3)  (a)-(v). (b)-(11), (e)-(11). (d)-()
(4)  (a)-Gii). (b)-1v). (¢)-(1). (d)-(11)

Options:

61547524397, 1
61547524398, 2
615475243299 =2
61547524400 4

Question Number : 126 Question Id : 6154756256 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which 1s the correct sequence 1n formulation of behavioural objectives?

(1) Criteria of acceptability of behawvior, conditions in which behaviour will oceur, the
behaviour

(2) The behaviour, the criteria of acceptability., the conditions 1n which behaviour will

occur
(3) The condition of behaviour. behaviour, eriteria of acceptability
(4) Behaviour to be specified. conditions 1n which behaviour will occur and ecriteria of

acceptability of the behaviour

Options:

61547524401, 1
61547524402, 2
61547524403 =2
61547524404 4

Question Number : 126 Question Id : 6154756256 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:
61547524401, 1

E1547524402. 2
E1547524403. 3
61547524404, 4

Question Number : 127 Question Id ;: 6154756257 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which 1z the correct sequence in the development of learning theories?

(1) Thorndike’s Connectionism. Pavlov's Classical Conditioning, Skinner's Operant
Conditioning. Tolman's Sign Gestalt. Cognitivist Theory and Constructivist Theory

(2) Skinner's Operant Conditioning. Classical Conditioning. Constructivist Theory and
Cognitivist Theory

(3) Thorndike's Connectiomism. Skinner's Operant Conditioning, Social Theory and
Cognitive Theory

(4) Classical Conditioning. Operant Conditioning, Gestalt Theory. Connectionism.
Constructivist Theory

Options:

61547524405, 1

61547524406, 2

61547524407 2

51547524405 4

Question Number : 127 Question 1d : 6154756257 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547524405, 1
61547524406, 2
61547524407 2
61547524408, 4

Question Number : 128 Question Id : 6154756258 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is the correct order of measurement scales in increasing order of
accuracy. precision and number of operations used?

(1) Ratio. interval, nominal. ordinal (2) Ordinal, ratio. interval. nominal
(3) Interval. ordinal. ratio, nominal (4) Nomuinal, ordinal. interval. ratio
Options:

61547524409 1
61547524410 2
E1547524411. 3
B154752441%2. 4

Question Number : 128 Question Id : 6154756258 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) AT, e, A, HiHw (2) i, MG, A, AHD

(3) A, FHEF, AFIGE, AHE (4) FATHF, HIEF, A, AT

Options:

61547524405 1
61547524410 2
61547524411, =
E15475244172. 4

Question Number : 129 Question Id : 6154756259 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The correct sequence in the development of educational technology 1n India 1s reflected by
which of the following?
(1) Audio aids, Video aids, Audio-visual aids. ICT supported aids
(2) ICT aids. Audio aids, Audio- visual aids. Video aids
(3) Video aids. Audio- visual aids, Audio aids. ICT aids
(4) Audio- visual aids, Video aids, Audio aids, ICT aids
Options:

E1547524413. 1
E1547524414. 2



E1547524415 3
B1547524416. 4

Question Number : 129 Question Id : 6154756259 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475244131
E1547524414 2
61547524415 5
61547524416 4

Question Number : 130 Question Id : 6154756260 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following indicates Deming's “system of profound knowledge” consisting of
four interrelated theories?

(1) Optimization, variation. knowledge and psychology

(2) Optimization, variation. knowledge and need hierarchy

(3) Variation, knowledge, need hierarchy and participation

(4) Enowledge, Need hierarchy. participation and goal setting

Options:

61547524417, 1
61547524418 2
61547524419 5
61547524420 4

Question Number : 130 Question Id : 6154756260 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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Options:
61547524417, 1



E1547524418. 2
61547524415 3
61547524420, 4

Question Number : 131 Question 1d : 6154756261 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The acronym DMAIC of Six Sigma method stands for

(1) Design- Measure -Assess-Integrate-Control
(2) Define-Measure-Analyse-Improve-Control

(3) Demonstrate-Measure-Aggregate-Implement-Connect
(4) Define-Match-Assume-Improve-Communicate
Options:

E1547524421. 1
B1547524422 2
B1547524423. 3
61547524424, 4

Question Number : 131 Question 1d : 6154756261 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547524421, 1
61547524422 2
61547524422 =2
E1547524424 4

Question Number : 132 Question Id : 6154756262 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Keeping 1n view the continuous cycle of process improvement, which of the following 1s 1n
proper sequence?

(1) Do-Check-Act-Plan (2) Check-Do-Act-Plan
(3) Plan-Do-Check-Act (4) Act-Check-Do-Pan

Options:



B1547524425. 1
B1547524426. 2
B1547524427. 3
61547524425, 4

Question Number : 132 Question Id : 6154756262 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) FADET — S — HRATS — AT (2) M T - FA FAT — FEATE — AT
(3) ArFAT — FAHREA] — FE — FHAE (4) AT - FE - B AT — AT
Options:

B1547524425 1
B1547524426. 2
G1547524427. 3
E1547524425. 4

Question Number : 133 Question Id : 6154756263 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the correct sequence of actions 1n conducting an intervention-based action research
in Education?

(1) Act. observe, plan and reflect (2) Plan. act. observe and reflect
(3) Observe. plan. reflect and act (4) Reflect. observe. plan and act
Options:

E1547524429. 1
E1547524430. 2
BE1547524431. 3
61547524437, 4

Question Number : 133 Question 1d : 6154756263 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
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615475244320
61547524451,
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Question Number : 134 Question Id : 6154756264 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Whach of the following 1s the correct sequence for staff recruitment?

(1) Testing cum interview. Job-analysis. Advertisement and Issue of appointment

(2) Interview. Job-analysis, Appointment order. Advertisement

(3) Job-analysis, Advertisement, Interview, Selection and Appointment order

(4) Advertisement. Job-analysis, Interview. Selection and Appointment order
Options:

E1547524433. 1
E1547524434. 2
61547524435 3
61547524436, 4

Question Number : 134 Question 1d : 6154756264 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
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Options:

61547524433, 1
61547524434 2
61547524435 =
61547524436 4

Question Number : 135 Question 1d : 6154756265 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the process of drawing a random sampling which of the following process is in order of
sequence?

(1) Define target population. decide sample size, list all the units of target population
and drawing the sample by randomization

(2) Decide sample size. define the target population. list the umits of target population
and select the sample by randomization

(3) Last all the umts of target population decide sample size. define the population and
apply randomization

(4) Drawing sample by randomization. decide sample size. define target population and
list all units of target population

Options:

61547524437, 1
61547524438 2
61547524429, 5
61547524440, 4

Question Number : 135 Question Id ;: 6154756265 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

£1547524437. 1
61547524428, 2
61547524429 5
61547524440 4

Question Number : 136 Question Id ;: 6154756266 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements-statement one is labeled as Assertion (A) and the other 1=

labeled as Reason (R).

Assertion (A):  There have been conscious efforts to bring together all teacher education
programmes, at various stages. leading to stage-specific and programme

specific different forms of knowledge base.

Reason (R) : NCTE acquired statutory status and brought a discussion document on
teacher Education.

In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)

(3) (A) 1s true. (R) 1= false

(4) (A) 1= false, but (R) 1s true

Options:

61547524441, 1
61547524442 2
61547524442 5
61547524444 4

Question Number : 136 Question Id : 6154756266 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547524441, 1
61547524442 2
61547524443 =
61547524444 4

Question Number : 137 Question 1d : 6154756267 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements-statement one 1= labelled as Assertion (A) and the other 1s

labelled as Reason (R).

Assertion (A):  You can find people with fixation. obsessions and compulsions who put
work ahead of health and family but this 1= not normal: work after all 1s

only work.

Reason (R) : The key to success as a manager 1s Intervening effectively, doing the right

things at the right time.
In the hight of the above two statements choose the correct option :
(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 18 true. (R) 1s false

(4) (A) 1s false, but (R) 1= true

Options:

61547524445 1
61547524446 2
E1547524447 =2
61547524445, 4

Question Number : 137 Question Id : 6154756267 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547524445, 1
61547524446 2
61547524447, 3
61547524448, 4

Question Number : 138 Question Id : 6154756268 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements. Statement one 1s labelled as Assertion (A) and the other 1s

labelled as Reason (R).

Assertion (A):  Effective leader motivates people

Reason (R) : People may be self motivated to give their best
In the light of the above statements. choose the correct option :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct and (R) 1s not the correct explanation of (A)
(3) (A) 15 true, (R) 1s false

(4) (A) 1s false, but (R) 1s true

Options:

61547524449 1
61547524450 2
E1547524451. =2
61547524452, 4

Question Number : 138 Question Id : 6154756268 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547524449, 1



E1547524450. 2
61547524451, 3
61547524457, 4

Question Number : 139 Question 1d : 6154756269 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements. Statement one 1s labelled as Assertion (A) and the other 1s

labelled as Reaszon (R).

Assertion (A): A budget 1s a balanced estimate of expenditures and receipts of a given

period of time.

Reason (R) : In the hands of an educational administrator, the budget is a record of past
performance. a method of current control and a projection of future plans.

In the light of the above statements, select your answer from the option given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)

(3) (A) 12 true, (R) 1= false

(4) (A) 1s false, but (R) 18 true

Options:

61547524453 1
61547524454 2
E1547524455 =2
61547524456, 4

Question Number : 139 Question Id : 6154756269 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547524453 1
E1547524454 2
61547524455 o
61547524456, 4

Question Number : 140 Question Id : 6154756270 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(Given below are two statements. Statement one 1s labelled as Assertion (A) and the other 1z

labelled as Reason (R).

Assertion (A) :  In ancient India, the development of the inner nature or character of the

student was deemed as one of the essential objects of Education.

Eeazon (R) : Mere intellectual development without the development of character will

defeat the very ends of studentship.

In the light of the above statements. choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (4)
(3) (A) 18 true. but (R) 1s false

(4) (A) 1= false. but (R) 1s true

Options:



B1547524457. 1
61547524458, 2
61547524455 3
61547524480, 4

Question Number : 140 Question Id : 6154756270 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547524457, 1
61547524458 2
61547524459 =2
E15475244E80. 4

Sub-Section Number: 2
Sub-Section 1d: 615475277
Question Shuffling Allowed : Yes

Question Id : 6154756271 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cestion Label | Comprehiension



Read the following passage carefully and answer the questions which follow.

There 1= no short cut to knowledge. Just because Reality 18 a creative activity. knowledge to
correspond to it. must 1n turn be a creative activity. Hence I must deny the revelation of any
Reality transcending the process. That 1s not to deny all value to such experience. but only
cognitive value-truth. At its lowest. 1t gives men the assurance necessary to enable them to
maintain the strenuous activity of participation in the creative process that 1z Reality 1tself.
At 1ts highest it 1s as members of an 1imaginary society that human being may become the
creators of new values and originate new ideals of the good and of Beauty. But I still deny
any absolute or eternal value to the ideals thus imagined. because thev are 1imagined.
Imagination. like anv other kind of creation. 1s not making something out of nothing. but
reshaping and recombining In a new way what 1= already known. Imagination 1s thus
conditioned by experience and can only just advance the boundaries of knowledge a small
step.

Socilety 12 the repository of all values. the ultimate arbiter of Truth. Goodness and Beauty.
The Good. the True or the Beautiful 1s just what societyv establishes as the standard. We
know 1n history only societies. and therefore there are different standards of Goodness.
Truth and Beauty and these mav conflict. We can of course imagine a single society
embracing all men. Toward such an imaginary societv. men concelve themselves bound by
obligations.

It 13 possible to see why the humanist ideal 1s not absolute or final. It 1s possible to Imagine a
soclety comprising more than humanity. Indeed scientists have hinted that humanity may
owe a duty to non human nature. and that not only 1n the generally recognized utilitarian
sense of conserving natural resources for more economical human exploitation.

Sub questions

Question Number : 141 Question Id : 6154756272 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The correspondence between knowledge and reality 1implies

(1) making of value (2) a mechanical act
(3) a creatlve process (4) a cognitive value truth
Options:

61547524481, 1
E154752448%2. 2
61547524483, 3
E1547524464. 4

Question Number : 142 Question Id : 6154756273 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Participation 1n the creative process at its highest

(1) gives men a certainity to maintain it

(2) the process of participation is full of tension
(3) leads to creation of values of absolute nature
(4) 1s originator of new 1deals

Options:
61547524465, 1



E1547524466. 2
B1547524467. 3
61547524488, 4

Question Number : 143 Question 1d : 6154756274 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The function of 1imagination 1s

(1) recombining two things already known

(2) making something out of nothing

(3) reforming and recombining

(4) reforming and recombining 1n a new way
Options:

61547524485 1
61547524470, 2
61547524471, 3
E1547524472. 4

Question Number : 144 Question Id : 6154756275 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Standards of value differ because of

(1) difference 1n society

(2) conflicting values 1n society

(3) conflict in personal values

(4) obligations of societies
Options:

615475244721
61547524474 2
E1547524475 3
E1547524476. 4

Question Number : 145 Question Id ;: 6154756276 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to the author “Humanistic 1deals™ are

(1) fixed and final
(2) relative and challenging
(3) absolute and final

(4) broad and encompassing

Options:

61547524477, 1
61547524478, 2
61547524479 2
61547524450 4

Question Id : 6154756271 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension
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Question Number : 141 Question Id : 6154756272 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547524461, 1
E1547524462. 2
E15475244E63. 3
B1547524464. 4

Question Number : 142 Question Id ;: 6154756273 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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61547524465, 1
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Question Number : 143 Question 1d : 6154756274 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
51547524469, 1
61547524470, 2

61547524471, 3
E1547524472. 4

Question Number : 144 Question Id : 6154756275 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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£1547524473 1

E1547524474. 2
E1547524475 3
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Question Number : 145 Question Id ;: 6154756276 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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61547524477 1
615475244758 2

61547524479 3
E1547524480. 4
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Read the following passage carefully and answer the gquestion that follow.

Leaders have alwayvs played a primordial emotional role. No doubt humankind's original
leaders-whether tribal chieftains or shamanesses — earned their place in large part because
their leadership was emotionally compelling. Throughout history and 1n cultures
everywhere, the leader in any human group has been the one to whom others look for
assurance and clarity when facing uncertaimity or threat. or when theres a job to be done.
The leader acts as the group’s emotional guide.

In the modern organization. this primordial emotional task-though by now largely invisible
remains foremost among the many jobs of leadership : driving the collective emotions in a
positive direction and clearing the smog created by toxic emotions. The task applies to
leadership evervwhere. from the boardroom to the shop floor.

Quite simply. in any human group the leader has maximal power to sway everyone's
emotions. If people’s emotions are pushed towards the range of enthusiasm. performance can
soar: if people are dmven towards rancor and anxiety. thev will be thrown off stride. This
indicates another important aspect of primal leadership: Its effects extend bevond ensuring
that a job 1s well done. Followers also look to a leader for supportive emotional connection—
for empathy. All leadership includes this primal dimension. for better or for worse. When
leaders drive emotions positively. they bring out evervone's best. We call this effect
resonance. When theyv drive emotions negatively. leaders spawn dissonance. undermining
the emotional foundations that let people shine. Whether an organization whithers or
flourishes depends to a remarkable extent on the leader’'s effectiveness in this primal
emotional dimension.

Sub questions

Question Number : 146 Question Id ;: 6154756278 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to the passage, leaders have become popular due to

(1) their power of knowledge about needs of people in the sciety
(2) their emotional power to guide

(3) their dominating nature

(4) their ability to let people go astray

Options:

615475244581, 1
61547524482 2
615475244583 =2
61547524484 4

Question Number : 147 Question Id : 6154756279 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The emotional quality to influence others 1s

(1) confined to specific workplace
(2) largely invnisible
(3) largely visible

(4) creating toxic emotions

Options:

61547524485, 1
61547524486, 2
61547524487 =
615475244585 4

Question Number : 148 Question 1d : 6154756280 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The power of leader to influence can result 1n

(1) ralsing expectations
(2) supportive emotional connection of followers
(3) enhancing stress
(4) enhancing self-perception
Options:

61547524455 1
61547524430 2
615475244391, 3
E1547524452. 4

Question Number : 149 Question Id : 6154756281 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The best caption by which the key / focal 1dea of the passage mav be represented 1s

(1) Human emotions (2) Shamanic leadership
(3) leadership styles (4) Resonant leadership
Options:

E15475244593. 1
E1547524454. 2
615475244585 3
61547524456, 4

Question Number : 150 Question Id : 6154756282 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



An effective leader 1s one who

(1) creates change (2) directs change
(3) transforms others (4) 1nspires others
Options:

E1547524457. 1
E15475244355. 2
615475244595 3
61547524500, 4

Question Id : 6154756277 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No
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Juestion Label - Comprehension
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Question Number : 146 Question Id : 6154756278 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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T AT o FTER 47 [ FA0 H LA 5

(1)  =ETH | S0 1 AETIRAIAT F T A

(2) OTTEaM %A ol 3991 STEATHF Al

(4) TP H WA F I A

Options:

615475244581, 1
61547524482 2
61547524483 =
61547524454 4

Question Number : 147 Question 1d : 6154756279 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

(1) fafore FEeys a9 71 HJigd T

(2)  ATgwEE: 7579 T
(3)  wAfg=mEE: 799 =
(4)  faurs 9@ TE

Options:

61547524485, 1
61547524486 2
61547524487 o
615475244588 4

Question Number : 148 Question Id : 6154756280 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) =R ==zHH

(2) AT = TeHE T B "2l oF 3
(3) GRIERCEE 9

(4) AT -TeAETER F Atagig O

Options:
61547524459, 1



E1547524430. 2
61547524451, 3
61547524452 4

Question Number : 149 Question 1d : 6154756281 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) o wE (2) “E-2ZH HEH g
(3)  =gea v (4) TFEEEF A9
Options:

E1547524453. 1
E15475244354. 2
B1547524455 3
61547524456, 4

Question Number : 150 Question Id : 6154756282 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1)  wftgds =@ 2 (2) Oftem= =i faom 24 2
(3) T SATHAT § B /A # (4) =& SAfFAl H YO0 TEE AT
Options:

61547524437 1
61547524435, 2
E1547524439%5. 3
E1547524500. 4



